












15
mar212-0

Hot Water basin Handrail ladder (optional)
1. If unit is a two-section assembly, attach the mid support channel:

-  Drop the vertical mounting channels into the sheet metal break of the 
upper section base frame as shown in Figure 20, Details A and B.

-  Slide up and lock the vertical mounting channel in place by securing the 
upper tab in place using the 3/8”(10mm) bolts provided. See Detail C.

-  Secure the horizontal channel in place using the 5/16”(8mm) bolts 
provided. See Detail D.

2. Attach the lower ladder support plate using the 3/8”(10mm) bolts 
provided. See Detail G.

3. Secure the ladder brackets to the upper, mid (if applicable), and lower 
supports using the 3/8”(10mm) bolts provided. Fasten the ladder to 
the ladder brackets. See Detail E, F, and G.

4. Fasten the ladder fl air to the railing posts using 5/16”(8mm) bolts 
provided. See Detail H.

optional accessory           
installation

Hot Water basin Handrail for
multi-cell units (optional)

Hot Water basin Handrail ladder 
attachment (optional)

Detail a Detail b Detail C Detail D

Detail e Detail F

Detail g Detail H

Figure 20. Hot water Basin Handrail ladder

Details a, b,
C, D, F

Detail e

Detail  g

Detail H



16
WWW.balTimoreairCoil .Com.au

motor removal system with Davit arm (optional)
1. If this option is ordered, two brackets are pre-installed in the factory at 

each motor location. See Figure 21, Detail A.

2. The davit socket is pre-assembled. A hook plate is supplied on the 
back of the davit socket. Place the hook over the bottom fl ange of 
the fan deck frame to hold the weight of the socket while it is being 
fastened to the unit. See Detail B.

3. For each motor location, attach a socket assembly to the two factory installed 
brackets using eight 3/8”(10mm) hardware supplied. See Detail C.

4. Place the davit arm into the davit socket. Use the viewing slots in the 
front of the socket to ensure the davit arm passes completely through 
the center plate and rests on the bottom support base. See Detail D 
(Independent Drive davit arm shown).

Operating Instructions 
1. Loosen and remove the drive belt.

2. Swing out the motor base.

3. Adjust the motorbase and swing the davit arm so the motor is centered 
below the eyebolt.

4. Attach the lifting mechanism (supplied by others).

Detail a Detail b Detail C Detail D

Detail a,b,C,D

Figure 21. Motor removal System with Davit Arm
independent Drive

Viewing
Slots

Hook
Flange



17
mar212-0

basin accessories (optional)
Basin accessories are not factory installed and will be located in a box 
inside the unit or secured to the interior of the unit. Refer to the submittal 
drawings for basin accessory installation locations. Utilize an appropriate 
pipe thread sealant when installing accessories into basin fi ttings.

Figure 23. Basin Accessories

Thermostat

Float Switch

Basin
Heater

Bulb Well

optional accessory installa-
tion

motor removal system with Davit arm 
(optional)

bottom Water outlet/equalizer/
bypasses (optional)

basin accessories (optional)

bottom Water outlet/equalizer/bypasses (optional)
1. The bottom connection seal, Figure 22, is typical for all bottom outlets, 

equalizers, and bypasses. Flange mounting hardware and gasket to be 
supplied by others.

2. Bottom connection seal kit(s) ship in plastic tubs.
Sump Suction 
Strainer
(For Bottom Water 
Outlets with Pump 
Suction)

Cold
Water
Basin

Figure 22. Bottom water outlet

Detail a

2 1/4”(57mm) OD 
Gasket

Backup Ring

Hardware 
Provided by 

Others

Gasket Provided by 
Others



COOLING TOWERS

CLOSED CIRCUIT COOLING TOWERS

ICE THERMAL STORAGE

EVAPORATIVE CONDENSERS

HYBRID PRODUCTS

PARTS & SERVICES

w w w . B a l t i m o r e A i r c o i l . c o m . a u

120 Wisemans Ferry Road, Somersby NSW 2250   ›   Telephone (Australia): 1300.134.622   ›   Telephone (New Zealand): 0800.225.842


